


5 6

7

9

10

8

Винт (6-50) x 2
Шайба М6 х 2

Винт (6-20) x 4

Винт (6-20) x 4

Винт (6-20) x 4

Винт (6-50) x 2

Винт (6-20) x 4

11* При ширине спального места меньше 120 опора не устанавливается.


